
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1. 1st approximation for  
incensor  

2. Distribute evenly 
ctnce ˆ  over i  and count 

knecˆ  for each k   

3. Calculate kd̂ and kn̂  

for each k   

  i = nint ? 

iskinrˆ = inrisk ? 

 

6. 1st approximation for 

nintsornnce ˆ  

 

1-nintupper

k kd
1

ˆ >

totevents ? 

 
nintupper

k kd
1

ˆ  =  

totevents ? 

 

 
nintupper

k kd
1

ˆ < 

totevents  & 

nintsornnce ˆ =0? 

8. Re-adjust 

nintsornnce ˆ   

4. Re-adjust 

isornnce ˆ   

5. 1 ii  

7. kd̂ =0, knecˆ =0, kn̂ = 

1-nintuppern̂  for each k   
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  1i = nint ? 

nint1,...,i   : i-th interval  

n1,...,k  : k-th extracted co-ordinates 

isornnce1,...,c ˆ : c-th censoring on i  

isornnce ˆ : total number censored on i  

ctnce ˆ : censor time assigned to c  

knecˆ : number of censoring at k  

kd̂ : number of events at k  

kn̂ : number at risk at k  

iskinrˆ : number at risk at the start of i  

inrisk : number at risk published at the 
start of i  

iupper : last extracted co-ordinates for i  


